60

5

(@)

40

30

N
(@]

[N
(@]

o
NETTT

2
1.8
1.6
1.4
1.2
1
0.8
0.6
0.4
0.2

| Upstream: Time in layer 1 | upstream_1] | Upstream: Time in layer 2 | upstream_2
Entries 1206 Entries 1011
T...............; --------------------------------------- Mean 2294 ™ Mean 2374
' EShower:]'OO V e 12 degRMS 0.2117 RMS 0.4085
. Time=22.459,. ax=0019.ns . s .
: Thresh=5.0 p. : e e
o p Overflow 0 B Overflow 0
:.-‘ .- ........ i T TG L
A i
1 22 23 24
Time (ns) Time (ns)
| Upstream: Time in layer 3 | upstream_3] [ Upstream: Time in layer 4 | upstream_4
Entries 2 Entries 0
i LR RS O SRR R LR R R RLRRLRLE Mean 25,16 1_ ....................................................... Mean 0
i RMS 0.075 RMS 0
E Time= OOOO Datax OOOOns [ Time= @OOO Deltax OOOOn“
- R O Underflow 0 08 T e T T T Underflow 0
E Overflow 0 B Overflow 0
e s ) | SRR SO oo 2 : e o
:_ .............................................. 0.6 e, .............................. p
:_ ............................................... 0.4 e, ...............................
:_ ............................................. 0.2k i .............................. :
F I | | | i | I |

0

Time (ns)

15 2
Time (ns)




